S 137-140 N2A M= EHHS2 131(SES 15)

/
Mel2Md: E2MEAEIH(2213) @ x| A

M3t (02) 3462-7213~4 / M & (02) 3462-436

Ao o2 Y
2 4 B 5 EXRHSAED-
Al B o R
ES Al
= =
A = E=HE(E2H]) AEBAEA 34
Al (=2 A = A
= A o Aseag: 2016-07-11
Al B WS 212 (NO. ) A2HEEA: JaMAR:Q 5 B ¢ 2L A
A2 =2 Z=HEE2H) Alsdasas ABOXHO0l 2 Y o
AB &2 2016-07-08 EREDE NERETE
slst=2
NESS cHel = = H 2
s H[(NO)
1 % 9.3%
2 %
3 %
4 %
5 %
6 %
7 %
8 %
9 %
10 %
% Al e KS F 2306:2000

% 9| LIS Q20 MZE AES AEZDY.

NE=SEAN SEAMEarE

1 HOIXIES 1 HIOIXI




& 4+ 6 Al d E
XAHE 212 73 Qs HE ¢z ¥
Al &l ek - KS F 2306 :2000 Al o|z+el o] 7ol
Al B2 &#H 5 1 2 3
Ww: 2,007.1 DW: WW: 0.0 DW: WW: 0.0 DW:
DW: 1,884.0 TW: 562.0 |DW: 0.0 TW: 0.0|DW: 0.0 TW: 0.0
Ww: 123 Wst: 1,322 [Ww: 0.0 Ws: 0.0|Ww: 0.0 Ws: 0.0
W: 9.3% W: #DIV/0! W: #DIV/O!
2 Hl W(%) 9.3% #DIV/0! #DIV/0!
Al B2 ®H S 4 5 6
WW: 0.0 DW: WW: 0.0 DW: WW: 0.0 DW:
DW: 0.0 TW: 0.0 [DW: 0.0 TW: 0.0|DW: 0.0 TW: 0.0
Ww: 0 Ws: 0 [Ww: 0.0 Ws: 0.0|Ww: 0.0 Ws: 0.0
W:  #DIV/0! W: #DIV/0! W: #DIV/O!
2 Hl W(%) #DIV/0! #DIV/0! #DIV/0!
Al 2 #H S 7 8 9
WW: 0.0 DW: WW: 0.0 DW: WW: 0.0 DW:
DW: 0.0 TW: 0.0 [DW: 0.0 TW: 0.0|DW: 0.0 TW: 0.0
Ww: 0 Ws: 0 [Ww: 0.0 Ws: 0.0|Ww: 0.0 Ws: 0.0
W:  #DIV/0! W: #DIV/0! W: #DIV/O!
2 Hl W(%) #DIV/0! #DIV/0! #DIV/0!
Al 2 #H S 10 11 12
WW: 0.0 DW: WW: 0.0 DW: WW: 0.0 DW:
DW: 0.0 TW: 0.0 |DW: 0.0 TW: 0.0|DW: 0.0 TW: 0.0
Ww: 0 Ws: 0 [Ww: 0.0 Ws: 0.0|Ww: 0.0 Ws: 0.0
W:  #DIV/0! W: #DIV/O! W: #DIV/O!
2 H W(%) #DIV/0! #DIV/0! #DIV/0!
WW: R2AM=E + HFA W:  (EFA/AEAIZEA)*100
DW: AZAIE + B TW: HEA
Ww: =7 Ws: AZAIZFH
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